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Fr=C (1/1)
m m
m m
100kN/m? 100kN/m?
kN/m? m kN/m? m kN/m? m kN/m? m kN/m? m kN/m? kN/m? kN/m? m

1 2 - - 100.00 1.00 - - 15.80 2.95
2 3 - - 99.11 1.00 - - 15.80 2.95
3 4 - - 98.85 1.00 - - 14.13 2.64
4 5 - - 96.43 1.00 - - 13.70 2.56
5 6 - - 100.00 1.00 - - 13.70 2.56
6 7 111.60 1.00 100.00 1.00 - - 13.22 247
7 8 124.31 1.00 100.00 1.00 - - 16.05 3.00
8 9 137.37 1.00 100.00 1.00 17.22 3.22 16.05 3.00
9 10 137.37 1.00 100.00 1.00 - - 16.05 3.00
11 12 135.28 1.00 100.00 1.00 - - 13.94 2.60
13 14 135.98 1.00 100.00 1.00 - - 13.93 2.60
14 15 - - 100.00 1.00 - - 14.36 2.68
16 17 117.90 1.00 100.00 1.00 - - 14.34 2.68
17 18 - - 100.00 1.00 - - 12.97 242
18 19 - - - - - - - -

20 21 - - - - - - - -
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